@ AirToolPro.com by Zampini Industrial Group - Premier Tool Suppliers Since 1987 1 -800-353-4676 =

Chicago
Praumatic
e GEORGES
{{_-'I]" RENAULT

Companies within
the Atlas Copco Group

Sales Contacts:

* Asia, Australia,
New Zealand, Japan
telephone (852) 235 70 963
facsimile (852) 276 31 875

* Austria
telephone (43) 2246 4677
facsimile (43) 2246 4682

* Belgium, Luxembourg
telephone (32) 2 660 4938
facsimile (32) 2 672 6092

* France
telephone (33) 2 40 80 20 00
facsimile (33) 2 40 33 27 07
* Germany
telephone (49) 6181 4110
facsimile (49) 6181 411184

¢ International
telephone (44) 1442 344 300
facsimile (44) 1442 344 602

* Italy
telephone (39) 039 244 101
facsimile (39) 039 465 5025

* Netherlands
telephone (31) 765 878 668
facsimile (31) 765 878 825

* Portugal
telephone (35) 11 3158792
facsimile (35) 11 3158793

* South Africa
telephone (27) 11 821 9300
facsimile (27) 11 821 9360
* Spain
telephone (34) 91 590 3152
facsimile (34) 91 590 3161

* United Kingdom
telephone (44) 1442 344 301
facsimile (44) 1442 344 600

* U.S.A., Canada and Mexico
telephone (1) 800 867 2442
facsimile (1) 800 232 6611



@ AirToolPro.com by Zampini Industrial Group - Premier Tool Suppliers Since 1987 1 -800-353-4676 =

Accessories

KC6..-7 / KC9..-7 = 222 mm KC6..-9 / KC9..-9 = 220 mm

217
o 217
©
£ 021

)
62

K6..-7 / K9..-7 = 363 mm K6..-9 / K9..-9 = 361 mm

K6..-. 7/ K9..-. / KC6..-. / KC9..-.

ACCESSORIES INCLUDED

—

3/8" - 24f. COLLET COLLET
m} ITEM CNOMO SERIES 200
i 1 CNOMO collet g 6 mm 6155260490
i 2 Series 200 resilient collet, g 5.55 to 6.35 mm (1/4") 615526 0630
= Exhaust hose L =1.5m (60™) 6158751130 6158751130
< Clamp 6158734150 6158734150
« 3/8" air hose nipple for 10 mm ID hose 6157040170 6157040170
= Flat wrench 14 mm 6158010050 6158010050
< Hatwrench 19 mm (3/4") 6158010760

OPTIONAL ACCESSORIES

ITEM K6../K9..-. KC6../KC9..
3 Suction cap 6153960130
4 Suction cap 6153960230

5 Suction cap 6153960140

6 Diamond burr g 7.2 mm, shank g 6 mm (28 000 rpm max) 6158600510 6158600510
7 Diamond cylinder g 27 mm, shank g 6 mm (20000 pmmax) 6158600030 6158600030
8 Diamond cylinder g 52 mm, shank g 6 mm (15 000 rpm max) 6158600040

OTHER OPTIONAL ACCESSORIES

ITEM PART NO.
9 9 Complete silencer kit 6153961660
1‘1 10 Inlet hose assembly L =1.7 m (67" 3/8"M - 3/8"F - 3 10 mm 6158702100

11 Reinforced cloth-lined exhaust hose L =0.75m (30") 6158751160
10 4? > ‘

Lou Zampini & Associates
2 Douglas Pike, Rt. 7
Smithfield, RI 02917

1 800 353 4676
FAX 1401 679 0165

] & SEGETr



Lou Zampini
New Stamp


@ AirToolPro.com by Zampini Industrial Group - Premier Tool Suppliers Since 1987 1 -800-353-4676 =

Dust extraction systems

for straight grinders
600 - 900 Watts (0.8 - 1.21 hp) - 12 000 to 28 000 rpm

6153960140 615396 0130 615396 0230
Vacuum hose, Vacuum hose, Vacuum hose,
ID 25 mm ID 32 mm ID 32 mm

@ a-/47 @-1/4")

Caution: comply with the speeds recommended by component and abrasive manufacturers

PICTURE| MODEL

PART NUMBER
CNOMO SERIES 200 INLET

FREE POWER WEIGHT
COLLET (7) COLLET (9) SPEED THREAD

-——— _-“

SUCTION CAP
ASSEMBLY

AIR

A K628-. 6151701070 6151701500 * 6153960140 28000 080 3B
A K624-. 6151701060 6151701510 *+ 6153960140 24000 600 080 13 29 38
A K922-. 6151701190 6151701520 *+ 6153960140 2000 900 121 14 31 ]
A K619-. 6151701050 6151701530 * 6153960140 19000 600 080 13 29 3B
A K918-. 6151701170 6151701540 *+ 6153960140 18000 £00) 121 14 31 3B
A K615-. 6151701040 6151701550 * 6153960140 15000 600 080 13 29 3B
A K915-. 6151701140 6151701560 *+ 6153960140 15000 £00) 121 14 31 3B
A K912-. 6151701100 6151701570 *+ 6153960140 12000 £00) 121 14 31 3B
B KC628-. 6151701260 6151701580 *+ 6153960130 or 6153960230 28000 600 080 09 20 3B
B KC624-. 6151701250 6151701590 *+ 6153960130 or 6153960230 24000 60 080 09 20 3B
B KC922-. 6151701300 6151701600 *+ 6153960130 or 6153960230 22000 900 121 10 22 ]
B KC619-. 6151701240 6151701610 * 6153960130 or 6153960230 19000 600 080 09 20 38
B KC918-. 6151701290 6151701620 * 6153960130 or 6153960230 18000 00 121 10 22 3B
B KC615-. 6151701230 6151701630 * 6153960130 or 6153960230 15000 600 080 09 20 3B
B KC915-. 6151701280 6151701640 * 6153960130 or 6153960230 15000 £00) 121 10 22 3B
B KC912-. 6151701270 6151701650 * 6153960130 or 6153960230 1200 00 121 10 22 3B

C)

GEORGES
RENAULT

[



@ AirToolPro.com by Zampini Industrial Group - Premier Tool Suppliers Since 1987 1 -800-353-4676 =

Accessories

KA11120.. =221 mm

KA11120A4D = 221 mm

KA11120A/KA11075./KA11060. = 221 mm

KA11120.5K / KA11120A.. / KA1112085. / KA11075. / KA11060.

ACCESSORIES INCLUDED KA11120A.
KA11120H5K KA11120B5.

ITEM KA11120A5K KA110.A/B

= Exhaust hose L =1.5m (60") 6158751130

= Clamp 6158734150

= 3/8” air hose nipple for 13 mm ID hose 6157040270

1 Side handle 6155760380

2 Vibration-damping side handle 615576 066 0

3 Complete silencer kit 615 396 166 O

4 Thermal insulating sleeve 6155704120

Grinders are supplied with their flanges, wheel guards and service keys

OPTIONAL ACCESSORIES

For grinding or sanding with semirigid disc
for metallic materials

KA11120A5K KA11120H5K

ITEM KA11120A5. KA11120B5.
A Suction cap for grinding wheel and semirigid disc g 127 mm (5') 615 396 0090 615 396 009 0

5 Backing pad with nut M14 (max: 12 000 mpm)*

6159901290

* Sanding with semirigid disc

For sanding metallic materials KA11120A
ITEM KA110.A/B
B Suction cap for standard abrasive disc g 127 mm (5') 6153960100
6 Ventilated backing pad with nut M14 and 5/8" (max: 12 000 rpm) 6159901270
For sanding non metallic materials KA11120A
ITEM KA110.A /B
C Suction cap for standard abrasive disc g 127 mm (5") 6153960120
6 Ventilated backing pad with nut M14 and 5/8" (max: 12 000 rpm) 6159901270
OTHER OPTIONAL ACCESSORIES
ITEM PART NO.
7 Diamond disc g 100 mm (4') 6158600020
8 Complete silencer kit 615 396 166 O
9 Inlet hose assembly L =1.7 m (67") 3/8'M-3/8"F-g 13 mm 6158040640
10 Reinforced cloth-lined exhaust hose L =0.75m (30") 6158751160
11 Vibration-damping side handle 615576 066 O
12 Thermal insulating sleeve 6155704120
13 Grease gun (capacity 24 g.) 6159901490
= Lubricant for bevel gear (1 kg) 6159901480

@ GEORGES
RENAULT




@ AirToolPro.com by Zampini Industrial Group - Premier Tool Suppliers Since 1987 1 -800-353-4676 =

Dust extraction systems
for angle grinders and sanders

2100 mm (4') -2 127 mm (5")
900 to 1 100 Watts (1.21 to 1.5 hp) - 6 000 to 12 000 rpm

Adjustable lever Dust extraction casing for diamond disc @ 100 mm (4')
Vacuum hose ID 25 mm (1)

For wheel or For standard For standard
semirigid abrasive abrasive disc abrasive disc
Metallic materials Metallic materials Non metallic materials

615396 009 0 615396 0100 615396 0120

Vacuum hose, ID 38 mm (1-1/2")

Caution: comply with the speeds recommended by component and abrasive manufacturers

PICTURE MODEL PART SUCTION CAP FREE THREADED POWER WEIGHT AIR
INLET
REF NUMBER ASSEMBLY SPEED SPINDLE THREAD
8§ | o | | w ] m lklb ]l o

ANGLE GRINDERS

A KAL11120H5K 6151700280 * 6153960090 12000 HEX 1100 150 17 37 3B
A KAL1120A5K 6151700540 * 6153960090 12000 M14x2 1100 150 17 37 3B
A KAL1120A5 6151700530 * 6153960090 12000 M14x2 1100 150 17 37 3B
A KA11120B5 6151700560 * 6153960090 12000 5/8411f. 1100 150 17 37 3B
A KA11120A5F 6151700520 * 6153960090 12000 M14x2 1100 150 17 37 3B
A  KA11120B5F 6151700550 * 6153960090 12000 5/811f. 1100 150 17 37 3B
B KA11120A4D 6151700590  Supplied with dust extraction casing 12000 M14x2 1100 150 20 44 3R
ANGLE SANDERS
C KAI11120A 6151700510* 6153960100 or 6153960120 12000 M14x2 1100 150 14 31 3B
C KA11075A 6151700610* 6153960100 or 6153960120 7500 M14x2 1000 134 14 31 3B
C KA11075B 6151700620%* 6153960100 or 6153960120 7500 5/8411f. 1000 134 14 31 ]
C KA11060A 6151700630* 6153960100 or 6153960120 6000 M14x2 [£00] 121 14 31 3B
C KA11060B 6151700640 %* 6153960100 or 6153960120 6000 58411f. 90 121 14 31 3B

@ GEORGES
RENAULT

[




@ AirToolPro.com by Zampini Industrial Group - Premier Tool Suppliers Since 1987 1 -800-353-4676 =

S

KL165B = 166 mm

KA90..A = 262 mm

KA90..B = 262 mm

KL165B / KA90..A / KA90..B

ACCESSORIES INCLUDED

KL165B
= Rear flange 6155031070
« 1/2" air hose nipple for 13 mm ID hose 6157040160
= Exhaust hose L =1.5m (60™) 6158751130
< Clamp 6158734150
« 3/8” air hose nipple for 10 mm ID hose 6157040170
= Grip 615576 069 0
OPTIONAL ACCESSORIES
KL165B KL165B
For sanding: non metallic materials metallic materials
Fibre disc Fibre disc
= Complete kit (including ltem 1-2-3) 6153993640 6153993650
1 Assembled dust collector 615 399 3590 615399 3600
2 Washer Z16U 6156420500 6156420500
3 Rigid backing pad with nut (max: 8500 rpm) 6159901340 6159901340
= Pin wrench, 35 mm (1-3/8") 6158020100 6158020100
« Hex. key 8 mm (5/16") 6158020610 6158020610
For sanding metallic materials KA9O0.A /B
ITEM 2180 mm (7)
A Suction cap 6153961250
4 Rigid backing pad with nut M14 and 5/8" g 180 mm (7*) (max: 8 500 rpm) 6159901340
= Pinwrench, 35 mm (1-3/8") 6158020100
For sanding non metallic materials KA90 A /B
ITEM 2180 mm (7)
B Suction cap 615396 126 0
4 Rigid backing pad with nut M14 and 5/8" g 180 mm (7*) (max: 8 500 rpm) 6159901340
= Pinwrench, 35 mm (1-3/8") 6158020100
OTHER OPTIONAL ACCESSORIES
KA90..A
ITEM KL165B KA90..B
C Silencer kit 6153961170
D Silencer kit 6153994620
5 Complete silencer kit 615 396 166 O
6 Inlet hose assembly L =1.7 m (67" 3/8"M-3/8"Fg 10 mm 6158702100
7 Reinforced cloth-lined exhaust hose L =0.75m (30") 6158751160
8 Vibration-damping side handle 615576 066 O
—

GEORGES
RENAULT




@ AirToolPro.com by Zampini Industrial Group - Premier Tool Suppliers Since 1987 1 -800-353-4676 =

Dust extraction systems
for vertical and angle sanders

2 180 mm (/')
900 - 1 200 Watts (1.21 - 1.61 hp) - 2 000 to 6 500 mpm

Supplied with M14 or 5/8" threaded spindle only

For standard abrasive disc for non metallic materials

6153993640 6153961260

For standard abrasive disc for metallic materials

[T0)

6153993650 6153961250
Vacuum hose, ID 38 mm (1-1/2")

Caution: comply with the speeds recommended by component and abrasive manufacturers
PICTURE MODEL PART FREE |THREADED| POWER WEIGHT
REF NUMBER DUST EXTRACTION KIT SPEED | SPINDLE
/! ;. | o | | wlm ]| kb

VERTICAL SANDER

A KL165B 6151700110 * 6153993640 or 6153993650 6500 58411f 1200 161 23 51
ANGLE SANDERS

B KA9030A 6151700980 * 6153961260 or 6153961250 3000 M14x2 aQ 121 16 35

B KA9030B 6151700990+ 6153961260 or 6153961250 3000 58411 900 121 16 35

B KA9020A 6151700960 * 6153961260 or 6153961250 2000 M14x2 QM 121 16 35

B KA9020B 6151700970 * 6153961260 or 6153961250 2000 58411 90 121 16 35

(& §ENAGIT ]




